15 Main Drive Trade Center House East Lane Business Park Wembley (UK) HA9 7NA



Tel: +44 (0) 20 3441 9321 Fax: +44 (0) 20 8385 2422 Email: info@zoom-idl.co.uk

Image	Item	Brand	Product Description	Units/ Case	Cases/ Pallet	Units/ Pallet	Barcode
	2049	Four Seasons	7pk Medium Roasting Tray (323mm x 265mm x 61mm)	18	27	486	5060082720499
8	2051	Four Seasons	32pk Foil Cake Cups (approx 80mm diameter, 23mm deep)	24	36	864	5060082720512
	2053	Four Seasons	5pk 8" Square Foil Tray	36	48	1728	5060082720536
S provide FOIL	2054	Four Seasons	15mt x 45cm Aluminium Foil Roll	24	49	1176	5060082720543
	2055	Four Seasons	1 Piece 22" Aluminium Foil Platter (550mm x 360mm)	24	50	1200	5060082720550
	2056	Four Seasons	Large Rectangular Roasting Tray (530mm x 330mm x 90mm)	24	45	1080	5060082720567
I GUI E	2066	Four Seasons	5pk Foil Pie Dishes with Lids (183mm x 40mm, 143mm Internal Diameter)	36	24	864	5060082720666
	2068	Four Seasons	Large Roasting Foil Tray (460mm x 340mm, 360mm x 260mm at base)	36	42	1512	5060082720680
	2069	Four Seasons	2pk Medium Foil Roasting Trays (323mm x 265mm x 61mm)	36	40	1440	5060082720697
COMO TUM	2076	Four Seasons	Cling Film - 50M x 30CM	12	126	1512	5060082720765
CHARLES SELVE	2078	Four Seasons	Cling Film - 30m x 30cm	24	165	3960	5060082720789

Image	Item	Brand	Product Description	Units/ Case	Cases/ Pallet	Units/ Pallet	Barcode
5 mein FOIL	2080	Four Seasons	5 mt x 30cm Kitchen Foil Roll	24	126	3024	5060082720802
O FOIL	2081	Four Seasons	Kitchen Foil Roll- 12m x 30cm	24	126	3024	5060082720819
O MEMORPOIL	2084	Four Seasons	8 mt x 45 Kitchen Foil Roll	24	90	2160	5060082720840
Testura .	2088	Four Seasons	9pk Medium Aluminium Foil Containers with Lids (150mm x 119mm x 51mm)	24	54	1296	5060082720889
	2089	Four Seasons	6pk Large Aluminium Foil containers with Lids (204mm x 110mm x 53mm)	24	38	912	5060082720895
- Sixul	2090	Four Seasons	4pk Loaf Tin Foil Container with Lids (245mm x 140mm x 75mm)	24	21	504	5060082720901
	2091	Four Seasons	3pk 14" Aluminium Platter (350mmx237mm)	36	45	1620	5060082720918
	2092	Four Seasons	2pk 17" Aluminium Platter (430mm x 290mm)	24	56	1344	5060082720925
- NATION 3	2093	Four Seasons	3pk, 9" Square Foil Container with Lids	20	32	640	5060082720932
g consequence	2261	All Seasons	Greaseproof Paper - 8M x 38cm	24	64	1536	5060082722615
S. College Barrier	2263	Four Seasons	Baking Paper - 6M x 37cm	24	80	1920	5060082722639
A Salara Salara	2268	Four Seasons	12pk Baking Sheets	24	80	1920	5060082722684

Image	Item	Brand	Product Description	Units/ Case	Cases/ Pallet	Units/ Pallet	Barcode
	2269	Four Seasons	Non Stick Cooking Liner - 33cm x 45cm	24	120	2880	5060082722691
S. Class now	2276	Four Seasons	Cling Film - 35M x 35cm	12	105	1260	5060082722769
CLINGFLM DO	2277	All Seasons	Cling Film 100mx30cm	24	54	1296	5060082722776
CLINGPILM PO	2278	Four Seasons	Catering Cling Film - 120M x 30cm	12	90	1080	5060082722783
	2950	Four Seasons	9pk Small Foil Flan Dishes (165mm x 24mm, 145mm Internal Diameter)	24	72	1728	5060082729508
	2952	Four Seasons	6pk Oblong Foil Pie Dishes (190mm x 150mm x 50mm)	24	100	2400	5060082729552
	2953	Four Seasons	20pk Medium Foils with Lids (150mm x 119mm x 51mm)	25	36	900	5060082729539
	2954	Four Seasons	50pk Medium Foils with Lids (150mm x 119mm x 51mm)	10	38	380	5060082729546
	2956	Four Seasons	20pk Large Foil Containers (204mm x 110mm x 53mm)	25	16	400	5060082729560
	2957	Four Seasons	50pk Large Foil Containers (204mm x 110mm x 53mm)	10	27	4248	5060082729577
	2993	Four Seasons	3pk 9" Square Container (No Lid)	24	96	2304	5060082729935
Town I.	2994	Four Seasons	6pk <u>LID ONLY</u> for 2993 - 9" Square Container (24 per inner)	144	63	9072	5060082729942

Image	Item	Brand	Product Description	Units/ Case	Cases/ Pallet	Units/ Pallet	Barcode
	60001	Four Seasons	2pk Aluminium Cookie Tray (410mm x 285mm x 18mm)	24	45	1080	5055706600011
Ten Park	60002	Four Seasons	2pk 14" Foil Platter (350mm x 237mm)	36	54	1944	5055706600028
	60003	Four Seasons	1pc Rectangular Foil Serving Dish with Lid (320mm x 265mm x 60mm)	24	42	1008	5055706600035
Cav	60004	Four Seasons	6pk Foil Pie Dishes (180mm x 60mm)	36	60	2160	5055706600042
The District	60005	Four Seasons	4pk Foil Pie Dishes with Lids	36	24	864	5055706600059
	60006	Four Seasons	5pk Foil Pie Dishes (183mm x 40mm, 143mm Internal Diameter)	36	24	864	5055706600062
The same of the sa	60012	Four Seasons	2pk Square Foil Serving Dish with Lid (225mm x 225mm x 35mm)	24	48	1440	5055706600127
	60014	Four Seasons	4pk Foil Pie Dishes (230mm Diameter x 48mm) NEW LINE	24	50	1200	5055706600128
	60016	Four Seasons	3pk Large Roasting Tray (320mm x 225mm x 32 mm) NEW LINE	24	60	1440	5055706600165
E lossinos	60031	All Seasons	12pk Roasting Bags With Clips 38cm x 25cm	24	224	5376	5055706600318
S APPEAR FOIL CALL	60050	Four Seasons	Kitchen Foil 20m x 30cm	24	44	1056	5055706600509